9. 2.2

Mk

9-65) A

a)/ #/'amg,&u /

‘ﬁufpe zorcda / \

portaqovs { 3 |
[ Jd =7

L) hexagon

7 <}

4-¢¢)

2 2 (4e12)+ 2(# 3 42()2:3)= ) F2cm”

5) C',mz Since. R odumens/ions are rmé,f@a//'ea/,

(L) oo 0) Ho ,éa,q_e_c /)e/qli=Va}ume
Va3 « 4 =744 cm?

d) (',qu S)ne e 3&(/}7\6"516%8 R&Mgp&id

Séa-éi_%
0.25/0 75 #l’il,,
AS 3= X 25ty
X = 75 mLg LS by LIS ks
/00 prsles = X

X= /75 pute




: 30.5 in
=9 o B D5 --%
-k | B 2 R 3 . (-2)
=1 s 4~ —5Z = 55 zf/lg-ﬁ‘ { _%_) 750
== - . e e o [-%)! =T 7 To0
- i — e ~
_' R L ﬁo =t -5
ol /- % 1 T
— VT M. WL
L - = /0 B e S )
— . E '-g— —-:‘:-,2' — A - - _
s—— ﬁ)__’_ < +--{_7’j ) - _ﬂ) [-2) -
3 -2 ) 45 — fo 3
® | e =S -(h gy
- \lél_ ‘}j‘i fl\ . %_ T
ﬂ, °, S b) 2?‘-..8’_)' )
. 4. IA L —
- 3o0.= 23 LY %)%
— 705~ 700 s A(Z)+ d e
- — i “56-5
- S . 56k S
~— -q— Q) x+4<2x-3 e T e
e N e— b) X=-2
B | 4 <on  -2+4<aly-3 R
Sy g.<_g/j_ A < "_f =5
“. s it 5\<_7 NO r
, LY X= 7 _0_(_ - e
7+ < 2(7) -3 DX ¢+4 <2 (93>
= 5143 — 3_zgg o

I2< 1S




